

SUBJECT: MATHEMATICS

**PAPER: ADVANCED MATHEMATICAL
METHODS**

PAPER CODE:H 3051(PAPER III)

CLASS: MSc III SEMESTER

TAUGHT BY:DR SATISH KUMAR

**ASSOCIATE PROFESSOR
DN COLLEGE MEERUT**

① Integral Equation

There are three types of integral equation

- ① Linear integral equation
- ② Non-Linear integral equation
- ③ Singular integral equation

① Linear integral equation: An integral equation is called linear integral equation if there is only linear functions as unknown functions under the integral sign.

ex. $\phi(x) = f(x) + \lambda \int_a^b K(x, \xi) \phi(\xi) d\xi$ is linear
as the unknown function $K(x, \xi) \phi(\xi)$ is linear

This Linear integral equation is further has been divided into two types:

- ① Volterra integral equation
- ② Fredholm integral equation

① Volterra integral equation An integral equation is said to be Volterra integral equation if the upper limit of integration is variable

ex $\phi(x) = f(x) + \lambda \int_a^x K(x, \xi) \phi(\xi) d\xi$ - ①
Here upper limit is x which is variable.

(i) If $\alpha = 0$ then equation (1) implies

$$F(x) = \lambda \int_a^x K(x, \xi) \phi(\xi) d\xi$$

which is called Volterra integral equation of first kind.

(ii) If $\alpha = 1$ then equation (1) implies

$$\phi(x) = f(x) + \lambda \int_a^x K(x, \xi) \phi(\xi) d\xi$$

which is called Volterra integral equation of second kind.

(iii) If $\alpha = 1$, $f(x) = 0$ then the equation (1) implies

$$\phi(x) = \lambda \int_a^x K(x, \xi) \phi(\xi) d\xi$$

which is called homogeneous Volterra integral Equation.

(2) Fredholm integral equation. An integral equation is called Fredholm integral equation if both the limits are constants i.e. domain of integration is fixed.

e.g. An equation

$$\alpha(x) \phi(x) = f(x) + \lambda \int_a^b K(x, \xi) \phi(\xi) d\xi \text{ is called}$$

Fredholm integral equation. — (2)

(i) if $\alpha = 0$ then equation (2) implies

$$F(x) = \lambda \int_a^b K(x, \xi) \phi(\xi) d\xi$$

which is called Fredholm integral equation of first kind.

(ii) if $\alpha = 1$ then the equation (2) implies

$$\phi(x) = f(x) + \lambda \int_a^b K(x, \xi) \phi(\xi) d\xi$$

which is called Fredholm integral equation of second kind.

(iii) if $\alpha = 1$, $f(x) = 0$ then the equation (2) implies

$$\phi(x) = \lambda \int_a^b K(x, \xi) \phi(\xi) d\xi$$

which is called homogeneous integral equation of second kind.

(3) Singular integral equations. When one or both limits of integration are infinite or the kernel $K(x, \xi)$ becomes infinite at one or more points within the range of integration, is called singular integral equation.

ex
$$\phi(x) = f(x) + \lambda \int_{-\infty}^{\infty} \exp\{-|x-\xi|\} \phi(\xi) d\xi$$

and
$$\phi(x) = f(x) = \int_a^x \frac{1}{(x-\xi)^\alpha} \phi(\xi) d\xi, \quad 0 < \alpha < 1$$

(4) Non-linear integral equation. If the unknown function appears under an integral sign to some power greater than one, is called non-linear integral equation.

ex
$$\phi(x) = f(x) + \lambda \int_a^b K(x, \xi) \phi^n(\xi) d\xi \quad (n > 1).$$

(5) Convolution integration, of the kernel $K(x, \xi)$ of the integral equation is of the form

$$K(x, \xi) = K(x - \xi)$$

then the integral equation is said to be of convolution type.

$$\text{ex } \phi(x) = e^x + \lambda \int_a^b [(x-\xi)^2 + 3(x-\xi)] \phi(\xi) d\xi$$

Formula: Differentiation of a definite integral

$$\begin{aligned} \frac{\partial}{\partial x} \left[\int_{p(x)}^{q(x)} [F(x, \xi) \phi(\xi)] d\xi \right] &= \int_{p(x)}^{q(x)} \left[\frac{\partial}{\partial x} [F(x, \xi) \phi(\xi)] \right] d\xi + [F(x, \xi) \phi(\xi)]_{\xi=q(x)} \frac{d}{dx} q(x) \\ &\quad - [F(x, \xi) \phi(\xi)]_{\xi=p(x)} \frac{d}{dx} p(x). \end{aligned}$$

Examples

① Given $\phi(x) = (1-x + \frac{x^3}{6}) + \int_0^x [\sin \xi - (x-\xi)(\cos \xi + e^\xi)] \phi(\xi) d\xi$

To find $\phi'(x)$ and $\phi''(x)$.

Differentiating ① with respect to x , we have

$$\begin{aligned} \phi'(x) &= (0-1 + \frac{3x^2}{6}) + \int_0^x \left[\frac{\partial}{\partial x} [\sin \xi - (x-\xi)(\cos \xi + e^\xi)] \phi(\xi) \right] d\xi \\ &\quad + [\sin \xi - (x-\xi)(\cos \xi + e^\xi)] \phi(\xi) \Big|_{\xi=x} \frac{d}{dx} x \end{aligned}$$

pdf-08
01 CH-03 (05) H-3051

$$- \left[\left[\sin \xi - (x - \xi)(\cos \xi + e^\xi) \right] \phi(\xi) \right]_{\xi=0} \frac{d}{dx} (0)$$

$$\phi'(x) = -1 + \frac{x^2}{2} + \int_0^x \left[0 - (\cos \xi + e^\xi) \right] \phi(\xi) d\xi$$

$$+ \left[(-\sin x - (x-x)(\cos x + e^x)) \phi(x) \right] \cdot 1 - 0 \quad \left[\because \frac{d}{dx} 0 = 0 \right]$$

$$\boxed{\phi'(x) = -1 + \frac{x^2}{2} - \int_0^x (e^\xi + \cos \xi) \phi(\xi) d\xi + \sin x \phi(x)}$$

Again, differentiating, we have

$$\phi''(x) = -0 + \frac{2x}{2} - \left[\int_0^x \left\{ \frac{\partial}{\partial x} (e^\xi + \cos \xi) \phi(\xi) \right\} d\xi \right]$$

$$+ \left\{ (e^\xi + \cos \xi) \phi(\xi) \right\} \frac{d}{dx} x - \left[(e^\xi + \cos \xi) \phi(\xi) \right]_{\xi=x} \frac{d}{dx} 0$$

$$+ \sin x \phi'(x) + \phi(x) \cos x$$

$$\phi''(x) = x - [0] - (e^x + \cos x) \phi(x) + \sin x \cdot \phi'(x)$$

$$+ \phi(x) \cos x$$

$$\phi''(x) = x - e^x \phi(x) - \cos x \phi(x) + \sin x \cdot \phi'(x)$$

$$+ \phi(x) \cos x$$

$$\boxed{\phi''(x) - \sin x \phi'(x) + e^x \phi(x) = x}$$

Given

$$(2) \phi(x) = (1 - x - 4 \sin x) + \int_0^x [3 - 2(x - \xi)] \phi(\xi) d\xi \quad \text{--- (1)}$$

Find $\phi'(x)$ and $\phi''(x)$

Differentiating (1), we have

$$\begin{aligned} \phi'(x) &= (0 - 1 - 4 \cos x) + \int_0^x \left[\frac{\partial}{\partial x} [(3 - 2(x - \xi)) \phi(\xi)] \right] d\xi \\ &\quad + \left[(3 - 2(x - \xi)) \phi(\xi) \right]_{\xi=x} \frac{d}{dx} x - \left[(3 - 2(x - \xi)) \phi(\xi) \right]_{\xi=0} \frac{d}{dx} 0. \end{aligned}$$

$$\phi'(x) = -1 - 4 \cos x + \int_0^x -2 \phi(\xi) d\xi + \left[(3 - 2(x - x)) \phi(x) \right] \cdot 1 - 0.$$

$$\phi'(x) = -1 - 4 \cos x - 2 \int_0^x \phi(\xi) d\xi + 3 \phi(x)$$

Again, differentiating, we get

$$\begin{aligned} \phi''(x) &= 0 + 4 \sin x - 2 \left[\int_0^x \left[\frac{\partial}{\partial x} \phi(\xi) \right] d\xi + \left[\phi(\xi) \right]_{\xi=x} \frac{d}{dx} x \right. \\ &\quad \left. - \left[\phi(\xi) \right]_{\xi=0} \frac{d}{dx} 0 \right] + 3 \phi'(x) \end{aligned}$$

$$\phi''(x) = 4 \sin x - 2 [0 + \phi(x) - 0] + 3 \phi'(x)$$

$$\phi''(x) - 3 \phi'(x) + 2 \phi(x) = 4 \sin x$$

$$(3) \text{ 76 } \phi(x) = 3 + \int_0^x (5x - 3\xi) \phi(\xi) d\xi, \text{ find } \phi'(x), \phi''(x) \quad \text{--- (1)}$$

Differentiating (1) with respect to x , we get

$$\begin{aligned} \phi'(x) &= 0 + \int_0^x \frac{\partial}{\partial x} [(5x - 3\xi) \phi(\xi)] d\xi \\ &\quad + \left[(5x - 3\xi) \phi(\xi) \right]_{\xi=x} \frac{d}{dx} x - \left[(5x - 3\xi) \phi(\xi) \right]_{\xi=0} \frac{d}{dx} 0 \end{aligned}$$

$$\phi'(x) = \int_0^x 5 \phi(\xi) d\xi + 2x \phi(x)$$

Pdf-08/01, CH-03 (07) H-3051, Dr Satish Kumar

$$\phi'(x) = \int_0^x 5\phi(\xi) d\xi + 2x\phi(x)$$

Again, Differentiating with respect to x , we have

$$\begin{aligned}\phi''(x) &= \int_0^x \frac{\partial}{\partial x} [5\phi(\xi)] d\xi + 5[\phi(\xi)] \frac{d}{dx} x \\ &\quad - 5[\phi(\xi)] \frac{d}{dx} 0 + 2[x\phi'(x) + 1 \cdot \phi(x)]\end{aligned}$$

$$\phi''(x) = 0 + 5\phi(x) - 0 + 2x\phi'(x) + 2\phi(x)$$

$$\phi''(x) - 2x\phi'(x) - 7\phi(x) = 0$$

(4) If $\phi(x) = \int_0^x (x+\xi)\phi(\xi) d\xi$, then find $\phi'(x)$, $\phi''(x)$.

solution. Given $\phi(x) = \int_0^x (x+\xi)\phi(\xi) d\xi$

$$\begin{aligned}\phi'(x) &= \int_0^x \frac{\partial}{\partial x} [(x+\xi)\phi(\xi)] \cdot d\xi \\ &\quad + [(x+\xi)\phi(\xi)] \frac{d}{dx} x - [(x+\xi)\phi(\xi)] \frac{d}{dx} 0.\end{aligned}$$

$$\phi'(x) = \int_0^x \phi(\xi) d\xi + 2x\phi(x) - 0$$

$$\phi''(x) = \int_0^x \frac{\partial}{\partial x} [\phi(\xi)] d\xi + 2[x\phi'(x) + \phi(x)]$$

$$\phi''(x) = 0 + 2x\phi'(x) + 2\phi(x)$$

$$\text{or, } \phi''(x) - 2x\phi'(x) - 2\phi(x) = 0.$$

Remember

$$\text{Let } \frac{d}{dx} I_2 = I_1 = \int_a^x f(x_1) dx_1$$

$$\Rightarrow I_2 = \int_a^x \int_a^{x_2} f(x_1) dx_1 dx_2 = \int_a^x f(\xi) d\xi^2$$

$$I_2 = \int_a^x (x-\xi) f(\xi) d\xi$$

In general

$$\int_a^x f(\xi) d\xi^n = \int_a^x \frac{(x-\xi)^{n-1}}{(n-1)!} f(\xi) d\xi$$

For $n=3$

$$\int_a^x f(\xi) d\xi^3 = \int_a^x \frac{(x-\xi)^{3-1}}{(3-1)!} f(\xi) d\xi$$

For $n=4$

$$\int_a^x f(\xi) d\xi^4 = \int_a^x \frac{(x-\xi)^3}{3!} f(\xi) d\xi$$

For $n=5$

$$\int_a^x f(\xi) d\xi^5 = \int_a^x \frac{(x-\xi)^4}{4!} f(\xi) d\xi$$

Note. Here

$$\int_a^x f(\xi) d\xi^n = \int_a^x \int_a^{x_2} \int_a^{x_3} \dots \int_a^{x_n} f(x_1) dx_1 dx_2 \dots dx_{n-1} dx_n$$

To convert a differential equation into an Integral equation (non homogeneous Volterra's Integral equation of second kind) and vice-versa. (2004, 07)

- ① Reduce $\phi''(x) - 3\phi'(x) + 2\phi(x) = 4 \sin x$ with the initial conditions $\phi(0) = 1$, $\phi'(0) = -2$ into a non homogeneous Volterra's Integral equation of second kind. Conversely, derive the original differential equation with the initial conditions from the integral equation obtained.

Solution. The given differential equation may be written as

$$\phi''(x) = 4 \sin x - 2\phi(x) + 3\phi'(x) \quad \text{--- (1)}$$

Integrating both sides with respect to x from $x=0$ to $x=x$, we have

$$\int_0^x \phi''(\xi) d\xi = 4 \int_0^x -\sin \xi d\xi - 2 \int_0^x \phi(\xi) d\xi + 3 \int_0^x \phi'(\xi) d\xi$$

$$\Rightarrow \phi'(x) - \phi'(0) = -4(\cos \xi)_0^x - 2 \int_0^x \phi(\xi) d\xi + 3[\phi(x) - \phi(0)]$$

$$\Rightarrow \phi'(x) + 2 = -4(\cos x - 1) - 2 \int_0^x \phi(\xi) d\xi + 3\phi(x) - 3$$

[$\phi'(0) = -2$
 $\phi(0) = 1$]

$$\Rightarrow \phi'(x) = -2 - 4 \cos x + 4 - 2 \int_0^x \phi(\xi) d\xi + 3\phi(x) - 3$$

$$\Rightarrow \phi'(x) = -1 - 4 \cos x + 3\phi(x) - 2 \int_0^x \phi(\xi) d\xi \quad \text{--- (2)}$$

Again, integrating both sides with respect to x from $x=0$ to $x=x$, we have

$$\int_0^x \phi'(\xi) d\xi = -\int_0^x d\xi - 4 \int_0^x \cos \xi d\xi + 3 \int_0^x \phi(\xi) d\xi - 2 \int_0^x \phi(\xi) d\xi^2$$

$$\left[\because \int_0^x \left(\int_0^x \phi(\xi) d\xi \right) d\xi = \int_0^x \phi(\xi) d\xi^2 \right]$$

$$\Rightarrow \phi(x) - \phi(0) = -x - 4 [-\sin \xi]_0^x + 3 \int_0^x \phi(\xi) d\xi - 2 \int_0^x (x-\xi) \phi(\xi) d\xi$$

$$\left[\because \int_0^x \phi(\xi) d\xi^2 = \int_0^x (x-\xi) \phi(\xi) d\xi \right]$$

$$\Rightarrow \phi(x) - 1 = -x - 4 \sin x + 3 \int_0^x \phi(\xi) d\xi - 2 \int_0^x (x-\xi) \phi(\xi) d\xi$$

$$\Rightarrow \phi(x) = (1-x-4 \sin x) + \int_0^x \{3-2(x-\xi)\} \phi(\xi) d\xi \quad \text{--- (3)}$$

which is non-homogeneous Volterra's integral equation of second kind.

Converse. Suppose

$$\phi(x) = (1-x-4 \sin x) + \int_0^x \{3-2(x-\xi)\} \phi(\xi) d\xi \quad \text{--- (1)}$$

Differentiating both sides with respect to x , we get

$$\phi'(x) = (0-1-4 \cos x) + \frac{\partial}{\partial x} \left[\int_0^x \{3-2(x-\xi)\} \phi(\xi) d\xi \right]$$

$$\begin{aligned} \phi'(x) &= -1-4 \cos x + \int_0^x \frac{\partial}{\partial x} [\{3-2(x-\xi)\} \phi(\xi)] \cdot d\xi \\ &\quad + [\{3-2(x-\xi)\} \phi(\xi)] \frac{d}{dx} x - [\{3-2(x-\xi)\} \phi(\xi)] \frac{d}{dx} 0. \\ &\quad \quad \quad \xi = x \end{aligned}$$

$$\phi'(x) = -1-4 \cos x - 2 \int_0^x \phi(\xi) d\xi + \{3-2(0)\} \phi(x) \cdot 1 - 0.$$

$$\phi'(x) = -1-4 \cos x - 2 \int_0^x \phi(\xi) d\xi + 3 \phi(x) \quad \text{--- (2)}$$

Again, differentiating with respect to x , we have

$$\phi''(x) = 0 + 4 \sin x - 2 \cdot \frac{\partial}{\partial x} \left\{ \int_0^x \phi(\xi) d\xi \right\} + 3 \phi'(x)$$

$$\phi''(x) = 4 \sin x - 2 \left[\int_0^x \left(\frac{\partial}{\partial x} \phi(\xi) \right) d\xi + \left\{ \phi(\xi) \right\} \frac{d}{dx} x \Big|_{\xi=x} - \left\{ \phi(\xi) \right\} \frac{d}{dx} 0 \Big|_{\xi=0} \right] + 3 \phi'(x)$$

$$\phi''(x) - 3 \phi'(x) = 4 \sin x - 2 [0 + \phi(x) - 0]$$

$$\phi''(x) - 3 \phi'(x) + 2 \phi(x) = 4 \sin x \quad \text{--- (3)}$$

Also which is the original differential equation we have

from (1) $\phi(0) = 1$

from (2) $\phi'(0) = -1 - 4 + 3 \phi(0)$
 $= -5 + 3$

$\phi'(0) = -2$

So, conditions are $\phi(0) = 1$ and $\phi'(0) = -2$.

which is the original differential equation with initial conditions.

(2) Reduce the initial value problem

$$\phi''(x) - \sin x \cdot \phi'(x) + e^x \phi(x) = x$$

with the initial conditions $\phi(0) = 1$, $\phi'(0) = -1$.

to a non homogeneous Volterra's integral equation of second kind. Conversely obtain the original differential equation with initial conditions from the obtained integral equation.

Solution. Given

$$\phi''(x) = x + \sin x \phi'(x) - e^x \phi(x) \quad \text{--- (1)}$$

Initial conditions are $\phi(0) = 1$, $\phi'(0) = -1$ --- (2)

Integrating both sides of (1) with respect to x from $x=0$ to $x=x$, we have

$$\int_0^x \phi''(\xi) d\xi = \int_0^x \xi d\xi - \int_0^x e^{\xi} \phi(\xi) d\xi + \int_0^x \sin \xi \phi'(\xi) d\xi$$

$$\Rightarrow \phi'(x) - \phi'(0) = \frac{x^2}{2} - \int_0^x e^{\xi} \phi(\xi) d\xi + \left[\sin \xi \cdot \phi(\xi) \right]_0^x - \left[\cos \xi \cdot \phi(\xi) \right]_0^x$$

$$\Rightarrow \phi(x) + 1 = \frac{x^2}{2} - \int_0^x e^{\xi} \phi(\xi) d\xi + \sin x \cdot \phi(x) - 0 - \int_0^x \cos \xi \phi(\xi) d\xi$$

$$\Rightarrow \phi'(x) = -1 + \frac{x^2}{2} + \sin x \cdot \phi(x) - \int_0^x (e^{\xi} + \cos \xi) \phi(\xi) d\xi \quad \text{--- (3)}$$

Again, Integrating both sides of (3) with respect to x from $x=0$ to $x=x$, we have

$$\int_0^x \phi'(\xi) d\xi = -\int_0^x d\xi + \frac{1}{2} \int_0^x \xi^2 d\xi + \int_0^x \sin \xi \cdot \phi(\xi) d\xi - \int_0^x (e^{\xi} + \cos \xi) \phi(\xi) d\xi^2$$

$$\phi(x) - \phi(0) = -x + \frac{1}{6} x^3 + \int_0^x \sin \xi \cdot \phi(\xi) d\xi - \int_0^x (x-\xi)(e^{\xi} + \cos \xi) \phi(\xi) d\xi$$

$$\phi(x) = 1 - x + \frac{1}{6} x^3 + \int_0^x [-\sin \xi - (x-\xi)(e^{\xi} + \cos \xi)] \phi(\xi) d\xi \quad \text{--- (4)}$$

which is non homogeneous Volterra's integral equation of second kind. [!! $\phi(0)=1$]

Converse. Suppose

$$\phi(x) = 1 - x + \frac{1}{6} x^3 + \int_0^x [-\sin \xi - (x-\xi)(e^{\xi} + \cos \xi)] \phi(\xi) d\xi$$

$$\Rightarrow \phi(0) = 1 - 0 + 0 + 0 \Rightarrow \phi(0) = 1$$

Now, Differentiating (5) with respect to x , we have

$$\phi'(x) = 0 - 1 + \frac{3x^2}{6} + \frac{\partial}{\partial x} \left[\int_0^x [-\sin \xi - (x-\xi)(e^{\xi} + \cos \xi)] \phi(\xi) d\xi \right]$$

$$\Rightarrow \phi'(x) = -1 + \frac{x^2}{2} + \int_0^x \frac{\partial}{\partial x} [-\sin \xi - (x-\xi)(e^{\xi} + \cos \xi)] \phi(\xi) d\xi + \left[[-\sin \xi - (x-\xi)(e^{\xi} + \cos \xi)] \phi(\xi) \right]_{\xi=x} \frac{d}{dx} x = 0$$

$$\phi'(x) = -1 + \frac{x^2}{2} + \int_0^x [0 - (1-\xi)(e^\xi + \cos \xi)] \phi(\xi) d\xi$$

$$+ [\sin x - (x-x)(e^x + \cos x)] \phi(x)$$

$$\phi'(x) = -1 + \frac{x^2}{2} - \int_0^x (e^\xi + \cos \xi) \phi(\xi) d\xi + \sin x \cdot \phi(x) \quad \text{--- (7)}$$

observe Here $\phi'(0) = -1$
Again, differentiating, we have

$$\phi''(x) = 0 + \frac{2x}{2} - \frac{\partial}{\partial x} \left[\int_0^x (e^\xi + \cos \xi) \phi(\xi) d\xi \right] + \sin x \phi'(x) + \cos x \cdot \phi(x)$$

$$\begin{aligned} \phi''(x) &= x - \int_0^x \frac{\partial}{\partial x} \left[(e^\xi + \cos \xi) \phi(\xi) \right] \cdot d\xi \\ &\quad - \left[(e^\xi + \cos \xi) \phi(\xi) \right]_{\xi=x} \frac{d}{dx} x + 0 + \sin x \phi'(x) + \cos x \cdot \phi(x) \end{aligned}$$

$$\begin{aligned} \phi''(x) &= x - 0 - (e^x + \cos x) \phi(x) + \sin x \cdot \phi'(x) + \cos x \cdot \phi(x) \\ &= x - e^x \phi(x) - \cancel{\cos x \phi(x)} + \sin x \cdot \phi'(x) + \cancel{\cos x \phi(x)} \end{aligned}$$

$$\phi''(x) = x - e^x \phi(x) + \sin x \phi'(x)$$

$$\Rightarrow \phi''(x) - \sin x \phi'(x) + e^x \phi(x) = x$$

with initial conditions $\phi(0) = 1, \phi'(0) = -1$

which is the original differential equation with initial conditions.

Proved.

- ③ Convert the differential equation $\frac{d^2\phi}{dx^2} - 2x \frac{d\phi}{dx} - 3\phi = 0$ with initial conditions $\phi(0) = 0, \phi'(0) = 0$ to Volterra integral equation of second kind. Conversely obtain the original differential equation with the initial conditions from the obtained integral equation.

Solution. Given

$$\frac{d^2\phi}{dx^2} - 2x \frac{d\phi}{dx} - 3\phi = 0 \quad \text{--- (1)}$$

$$\text{with initial conditions } \left. \begin{array}{l} \phi(0) = 0 \\ \phi'(0) = 0 \end{array} \right\} \quad \text{--- (2)}$$

Integrating (1) from $x=0$ to $x=x$, we have

$$\int_0^x \frac{d^2\phi}{d\xi^2} d\xi - 2 \int_0^x \xi \frac{d\phi}{d\xi} d\xi - 3 \int_0^x \phi(\xi) d\xi = 0$$

$$\Rightarrow \left[\frac{d\phi}{d\xi} \right]_0^x = 2 \int_0^x \xi \frac{d\phi}{d\xi} d\xi + 3 \int_0^x \phi(\xi) d\xi$$

$$\Rightarrow \frac{d\phi}{dx} - \left(\frac{d\phi}{dx} \right)_{x=0} = 2 \left[\xi \cdot \phi(\xi) \Big|_0^x - \int_0^x 1 \cdot \phi(\xi) d\xi \right] + 3 \int_0^x \phi(\xi) d\xi$$

$$\Rightarrow \frac{d\phi}{dx} - \phi'(0) = 2 \left[x\phi(x) - 0 \right] - 2 \int_0^x \phi(\xi) d\xi + 3 \int_0^x \phi(\xi) d\xi$$

$$\Rightarrow \frac{d\phi}{dx} = 2x\phi(x) + \int_0^x \phi(\xi) d\xi \quad \left[\because \phi'(0) = 0 \right]$$

$$\Rightarrow \phi'(x) = 2x\phi(x) + \int_0^x \phi(\xi) d\xi \quad \text{--- (3)}$$

Again, Integrating from $x=0$ to $x=x$, we have

$$\int_0^x \phi'(\xi) d\xi = 2 \int_0^x \xi \phi(\xi) d\xi + \int_0^x \phi(\xi) d\xi$$

$$\Rightarrow \phi(x) - \phi(0) = 2 \int_0^x \xi \phi(\xi) d\xi + \int_0^x \phi(\xi) d\xi$$

$$= \int_0^x (2\xi + x - \xi) \phi(\xi) d\xi$$

$$\Rightarrow \phi(x) = \int_0^x (x + \xi) \phi(\xi) d\xi \quad \text{--- (4)}$$

[$\because \phi(0) = 0$]

which is Volterra's integral equation of second kind.
Converse. We have

$$\phi(x) = \int_0^x (x + \xi) \phi(\xi) d\xi \quad \text{--- (5)}$$

Hence $\phi(0) = 0$ --- (6)

$$[\because \int_0^0 (x + \xi) \phi(\xi) d\xi = 0]$$

Differentiating (5), we have

$$\phi'(x) = \frac{\partial}{\partial x} \left[\int_0^x (x + \xi) \phi(\xi) d\xi \right]$$

$$= \int_0^x \left\{ \frac{\partial}{\partial x} [(x + \xi) \phi(\xi)] \right\} d\xi$$

$$+ [(x + \xi) \phi(\xi)] \frac{d}{dx} x - [(x + \xi) \phi(\xi)] \frac{d}{dx} 0$$

$\xi = x \qquad \qquad \qquad \xi = 0$

$$\phi'(x) = \int_0^x \phi(\xi) d\xi + 2x \phi(x) - 0$$

$$\phi'(x) = \int_0^x \phi(\xi) d\xi + 2x \phi(x)$$

Hence $\phi'(0) = 0$

Again, differentiating, we have

$$\begin{aligned}\phi''(x) &= \frac{d}{dx} \left[\int_0^x \phi(\xi) d\xi \right] + 2 \left[1 \cdot \phi(x) + x \cdot \phi'(x) \right] \\ &= \int_0^x \frac{d}{dx} (\phi(\xi)) \cdot d\xi + \phi(\xi) \Big|_{\xi=x} \cdot \frac{d}{dx} x - [\phi(\xi)]_{\xi=0} \cdot \frac{d}{dx} 0 \\ &\quad + 2\phi(x) + 2x\phi'(x)\end{aligned}$$

$$\phi''(x) = 0 + \phi(x) - 0 + 2\phi(x) + 2x\phi'(x)$$

$$\Rightarrow \phi''(x) - 3\phi(x) - 2x\phi'(x) = 0$$

$$\Rightarrow \left. \begin{aligned} \phi''(x) - 2x\phi'(x) - 3\phi(x) &= 0 \\ \text{with initial conditions } \phi(0) &= 0 \\ \phi'(0) &= 0 \end{aligned} \right\} \text{initial, original differential equation.}$$

(4) Reduce $\phi''(x) + \lambda \phi(x) = f(x)$ where $\phi(0) = 1$
 $\phi'(0) = 0$

Solu. Given $\phi''(x) = F(x) - \lambda \phi(x)$ — (1)

Integrating, we have

$$\phi'(x) - \phi'(0) = \int_0^x F(\xi) d\xi - \lambda \int_0^x \phi(\xi) d\xi$$

$$\Rightarrow \phi'(x) = \int_0^x F(\xi) d\xi - \lambda \int_0^x \phi(\xi) d\xi \quad [\because \phi'(0) = 0]$$

Again, integrating, we have

$$\begin{aligned}\int_0^x \phi'(\xi) d\xi &= \int_0^x [F(\xi) - \lambda \phi(\xi)] d\xi \\ \phi(x) - \phi(0) &= \int_0^x [F(\xi) - \lambda \phi(\xi)] d\xi\end{aligned}$$

$$\Rightarrow \phi(x) = 1 + \int_0^x (x-\xi) (F(\xi) - \lambda \phi(\xi)) d\xi$$

which is reduced Volterra integral equation.